Pace Analytical Services, LLC
Greensburg, PA

Item No.	Item Description	Unit	Qty	Unit Price	Total Price	
Indicate	e the percentage premium your firm will ac	dd to ea	ach of			
the test costs below in the event of an accelerated t		test res	sult	25	5%	*
require	ment:					
1	TKN	EA	100	\$16.00	\$1,600.00	
2	Ammonia (NH3-N)	EA	100	\$13.00	\$1,300.00	
3	Cyanide (Total Cyanide)	EA	100	\$16.00	\$1,600.00	
4	VOCs (Test Method 524, 524.2)	EA	30	\$58.00	\$1,740.00	
5	VOCs (Test Method 624)	EA	50	\$58.00	\$2,900.00	
6	Semi-volatiles (Test Method 525)	EA	25	\$122.00	\$3,050.00	
7	Semi-volatiles (Test Method 625)	EA	25	\$127.00	\$3,175.00	
8	Pesticides & PCB's (Test Method 508)	EA	30	\$210.00	\$6,300.00	*
9	Pesticides & PCBs (Test Method 608)	EA	40	\$69.00	\$2,760.00	
10	Pesticides & PCB's (Test Method 505)	EA	10	\$58.00	\$580.00	
11	BTEX, MTBE & TPH (Total TPH concentration is needed by test method EPA 602 or by any other EPA approved test method.)	EA	5	\$85.00	\$425.00	
12	BTEX (Test Method 602) or by any other EPA approved test method	EA	5	\$42.00	\$210.00	*
13	MTBE (Test Method 602) or by any other EPA test method	EA	5	\$42.00	\$210.00	*
14	TPH (any EPA approved test method.)	EA	20	\$42.00	\$840.00	

# Pace Analytical Services, LLC Greensburg, PA

Item	Item Descriptions	Unit	Qty	Unit	Total
No.	-		C-3	Price	Price
15	Herbicides - a) 2, 4-D; b) 2, 4, 5 - TP Silvex; Test Method 615, 8151A or by any other EPA approved test method	EA	20	\$106.00	\$2,120.00
16	TCLP Metals (Arsenic, Barium, Cadmium Chromium, Lead, Mecury, Selenium and Silver)	EA	10	\$90.00	\$900.00
17	TCLP Organic: VOCs + Semi volatiles + Herbicides + Pesticides / PCBs	EA	10	\$413.00	\$4,130.00
18	Flash Point	EA	40	\$20.00	\$800.00
19	Mercury	EA	40	\$16.00	\$640.00
20	Total Phosphorus	EA	75	\$16.00	\$1,200.00
21	Individual Metal Analyses (Arsenic, Antimony, Barium, Cadmium, Chromium, Cobalt, Copper, Lead, Selenium, Silicon, Silver, Aluminum, Iron, Magnesium, Mantganese, Molybdenum, Nickel, Potassium, Sodium, Tin, Titanium, Vanadium and Zinc) for DW or W. Water	EA	200	\$7.00	\$1,400.00
22	Color	EA	20	\$11.00	\$220.00
23	Phenol	EA	10	\$16.00	\$160.00
24	Surfactants	EA	10	\$42.00	\$420.00
25	Odor	EA	10	\$11.00	\$110.00

### Pace Analytical Services, LLC Greensburg, PA

Item No.	Item Descriptions	Unit	Qty	Unit Price	Total Price
26	TOC's (Total Organic Carbon)	EA	80	\$16.00	\$1,280.00
27	Hexavalent Chromium	EA	20	\$23.00	\$460.00
28	Nitrate / Nitrite	EA	100	\$11.00	\$1,100.00
29	Atrazine (drinking water)	EA	10	\$143.00	\$1,430.00
30	Oil & Grease	EA	30	\$32.00	\$960.00
31	Formaldehyde	EA	10	\$201.00	\$2,010.00 *
32	Trihalomethanes TTHM (Test Method 524.2)	EA	150	\$48.00	\$7,200.00
33	Sludge Analyses including: Total Phosphorus, Total Potassium, TKN, NH4, NO3, Cd, Cu, Ni, Pb, Zn, Hg, As, Mo, Se, PCB's and Calcium Carbonate Equivalent and present solids	EA	20	\$239.00	\$4,780.00
34	Dioxin	EA	5	\$239.00	\$1,195.00
35	Asbestos	EA	5	\$127.00	\$635.00 *
36	Haloacetic Acids (HAA5) by EPA 552.2	EA	75	\$80.00	\$6,000.00
37	Calcium Carbonate Equivalent (CaCo3) for Sludge samples	EA	20	\$27.00	\$540.00
38	PCB's for Sludge sample (Test Method 8082)	EA	20	\$48.00	\$960.00
39	GRO	EA	4	\$37.00	\$148.00

# Pace Analytical Services, LLC Greensburg, PA

Item No.	Item Descriptions	Unit	Qty	Unit Price	Total Price	
40	DRO	EA	4	\$37.00	\$148.00	
41	Percent Solids	EA	20	\$11.00	\$220.00	
42	Heterotrophic Plate Count (SM9215)	EA	10	\$27.00	\$270.00	
43	Sulfate	EA	15	\$16.00	\$240.00	
44	COD	EA	25	\$16.00	\$400.00	
45	Sulfide	EA	10	\$16.00	\$160.00	
46	Sulfite	EA	10	\$16.00	\$160.00	
47	EPA 8260	EA	10	\$58.00	\$580.00	
48	Chloride	EA	15	\$11.00	\$165.00	
49	Ortho-Phosporous	EA	75	\$16.00	\$1,200.00	
50	Bromide	EA	30	\$16.00	\$480.00	
51	Cryptosporidium	EA	5	\$803.00	\$4,015.00	
52	Giardia	EA	5	See above cost	Included in Cryptosporidium * run	
53	Fluoride	EA	5	\$16.00	\$80.00	
54	Test Method 547	EA	5	\$69.00	\$345.00	
55	Test Method 548	EA	5	\$69.00	\$345.00	
56	Test Method 531.1	EA	5	\$58.00	\$290.00	
57	Test Method 504.1	EA	5	\$37.00	\$185.00	
58	Test Method 549	EA	5	\$69.00	\$345.00	

				Pace Analytical Services, LLC Greensburg, PA		
Item No.	Item Descriptions	Unit	Qty	Unit Price	Total Price	
59	Test Method 515.3	EA	5	\$90.00	\$450.00	
TOTAL BID SUM ITEMS 1 THROUGH 59			\$77,566.00			

#### Remarks / Exceptions:

Indicate the percentage premium your firm will add to each of the test costs in the event of an accelerated test result requirement: \*Dependent on in-house capability of lab and sub lab and specifics of request.

- No. 8 \*Subcontracted; 7 day hold
- No. 12 \*Can be run with MTBE samples
- No. 13 \*Can be run with BTEX samples
- No. 31 \*Subcontracted; Formaldehyde in water has a 3 day hold. Please contact the lab to ensure hold time can be met.
- No. 35 \*Subcontracted; 48 hour hold time
- No. 52 \*If need extra plate and filters \$185; Subcontracted to Pace KY